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7.045 2460 4,785
9 D099 = =
= 5911520 * 121 * 652 * 104.5% = 4.016
82 47 53420 « 12 * 6520 * 104.5% = 3,209
= Ol
10,217 8.139 2078 7
HZopl Y EYnoag
5230020 * 221 x 652 * 150% = 10,217
| olol=ol
14.776 12.928 1,84g10 EAMSEIES
QX =sOle & 2 ol=gl
=3 30,7808 * 19 * 5 * 40= = 6.156




(2 A 0005010200) Ab 3l

(Z 2000) AF3|OH 2]

(2 2300) At3| & EHH]

S
=]
il

Bl SHAH &

O
il
o

Bl S8 A&

0 SX= SHAL
0 SH=Hl SHAY

0 AIEEHISXIHl SHA A

T s B ml
o Ao (O] m A = | %
o e A
o Tilad 30,7809 * 1% * 40%
0 DEBRE - UDS AL HA
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(2 A 0005010200) Ab 3l N (& 2000) AF3I N H] (2t 2300) A 5t 2310) Ab3| 2 X chel - &)
T s B ml )
) Ao (O /| =
O]l Ar oH 2
HES |
AP BT AL 5,000,000 * 14l 5,000
2S0IOIE 22y 842 3,000,000 * 14l 3,000
LIQIOIIIE dad 242 2,000,000 * 14l 2,000
Aol s ]
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